
 
i.5

0 
 

e.
50

 

 
e.48

.5 

 370 

LV One INOX EVO
big silencer Øi 50
Cod.308424481

3 Aluminium spacer
-for allen screw M8-
Cod.204321

2 Allen screw M8X20 
T.C.Z.B. 
Cod.200722

Allen screw M8X25 
T.C.Z.B. 
Cod.200314

Strap-in stainless Ø53
Cod.300053530

Mounting plate M5
Cod.204555

2 Gasket 
14x4.9x1.5 
Cod.200371

Pipe N°1084
Cod.3014028201

2 Knurled collar 
nut M8
Cod.200298

Carbon bracket 
Cod.0814139501

2 Carbon bracket FB1S
Cod.306960505

2 Plain washer 
5x15 Inox
Cod.406580

Allen screw 
M5X12  T.B.E.I. 
Cod.201222

ORIGINAL 
screw M6

Carbon cover
Cod.0814028001

Short helical spring
tensile 
Cod.204387

Short tube in 
silicon rubber 
Cod.204412

ORIGINAL 
screw M6

 110 

 1
25

 

dB-killer n.32B
Cod.307762801

.Grower Ø5 cod.202286

.Allen screw M5x8 T.C.E.I inox
 cod.204213

.Grower Ø5 cod.202286

.Allen screw M5x8 T.C.E.I inox
 cod.204213

Rubber cap
Cod.204790

Art. 14139E

HONDA CRF 1000L AFRICA TWIN ('16)

SLIP-ON  - LV ONE INOX EVO -  BIG -  Passaggio STANDARD 
OMOLOGATO "EVOLUTION II"


	Foglio1
	Vista del disegno23
	Vista del disegno24


